2 KIEMER DOKE R
(13) K TEFKJR
(1) B OSHIERA
D KB/ KIE

£ 7K H A KIS | KEBF2E

£ 7K i A H 128. 5. 10 H28. 5. 10

x fig 2 2

= dh §®) 18.7 19.5
K I (©) 16.8 18.5
— ik b (f#/mL) 0 0
K 1% (MPN/100mL) 0 0
E # kK O F 0O kb & W (mg/L) 0. 002 0. 003
il i i T = = (mg/L) <0. 004 <0. 004
MMEEEROHEMBESER (mg/L) 0.52 0.48
7 v FZF R O E 0O AW (mg/L) <0. 08 <0. 08
o kB O o b & W (mg/L) <0. 005 <0. 005
% K O X o { A& B (mg/L) 0. 01 0. 01
~ v H RO EOIE Y (mg/L) <0. 005 <0. 005
i 1k Y] A % N (mg/L) 6.7 6.6
BT T A, < TR N () (mg/L) 110 150
B (& F Rk FE(ToC) O &) (mg/L) 0.1 <0. 1
D H il 7.1 7.0
5 = B L FERL
=) s (%) <0.5 0.5
i & (%) 0. 1 <0.1
B & #® FE (T O N ) <1 <1
3 & Es Ei3 A [t) (&l /mL) 0 0
A ok ¥ WM B R E R ' (mg/L) — —
x 1% #E (MPN/100mL) 0 1
7 v B = 7 B ® # (mg/L) <0. 02 <0. 02
fit i A %+ N (mg/L) 50 64
E = = H 2 (mS/m) 26.9 32.4
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2

(13) 7K Bk

JKE fit % O K E A

(1) BYEZE R O R A

@ _JFUk
£ 7K s A H H28.4.5 | H28.5.10 | H28.6.7 | H28.7.5 @ H28.8.2
PN i 5] 5 = 551 E
X I (©) 8.1 18.7 17. 4 19.5 23.4
7K i (©) 16.8 17.0 17.0 17.1 17.0
— ik A (f8 /mL) 0 0 0 0 1
x i (MPN/100mL) 0 0 0 0 0
BRI v AR OZEOIAEY (mg/L) — — — — —
K K O F O b A& W (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005 <0.00005
t v v E X EZE O EAEWY (mg/L) — — — — —
B Kk O F o I A B (mg/L) — — - — —
vt # &k N F O b B W (mg/L) 0. 002 0. 002 0. 002 0. 002 0. 002
N - U (mg/L) — — — — —
il it fik HEe = = (mg/L) <0. 004 — — <0. 004 —
T A A A v KON T (mg/L) — — — — —
MR EEELCHMBREE R (mg/L) 0.53 — — 0. 50 —
7 v F Rk UV Xx O AW (mg/L) <0.08 - - <0.08 —
A U F K X EF O b & W (mg/L) — — — — —
| bi it K F (mg/L) — — — — —
N A (mg/L) — — — — —
VA-L,2-V/ZmruxF Ly K
FkZ7vA-1,2-Y /s L (mg/L) - — — — —
DA A = T = T S S (mg/L) - - - - —
F b7 7/ wmowm == F L v (mg/L) - - - - -
kYU 7 v ow = F Lo (mg/L) - - - - -
~ v £ % (mg/L) — — — - -
#H ES i3 (mg/L) — — — — —
7 = = i3 i3 (mg/L) — — — — —
7 o o 7R v I (mg/L) - - - - -
v 7 5! = K i3 (mg/L) — — — — —
Y 7 v T 7 a ona A X v (mg/L) — — — — —
5 F# i3 (mg/L) — — — — —
Wb y N v X v (mg/L) — — — — —
b ) 7 = = (mg/L) - — — — —
7 oo ' Y J o oua A K v (mg/L) - — — — —
7 = s gz s A (mg/L) — — - — —
A v A 7T A F v K (mg/L) — - - - -
m o &k O = o b & W (mg/L) <0. 005 — — <0. 005 —
TILI =20 AN ZEDOEYW (mg/L) — — — — —
% K O F o v A B (mg/L) <0. 01 — — 0. 01 —
g &K O x o kA& W (mg/L) — — — — —
> F U U AT O EW (mg/L) — — — — —
~ v H vk RNE DO E W (mg/L) <0. 005 — — <0. 005 —
iy 1t Y A 7+ N2 (mg/L) 6.7 — — 6.9 —
ANV T, TRV LEGEE) (mg/L) 120 — — 120 —
7K i 7 2 W (mg/L) — — — — —
A IR | (mg/L) — — — — —
D4 B 7z A N v (mg/L) — — — — —
2= A F L A4 VK IILV X F — b (mg/L) — — _ _ _
¥ A4 & v R om wm % A (mg/L) - - — — —
=7 s J — L JH (mg/L) — — — — —
HHWY (& F KR FE (00 © &) (mg/L) 0.1 0.1 0.1 <0. 1 <0. 1
p H i 7.2 7.2 7.2 7.3 7.3
% _ _ _ _ _
5 = Bl BELRL BEAL BEARL BEEALL
@, i () 0.5 0.5 0.5 <0.5 <0.5
) g () <0.1 0.1 0.1 0.1 0.1
J53 2 i F (mg/L) — — — — —
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[28.9.6  128.10.4 H28.11.8 H28.12.6 H29.1.10  H29.2.7 H29.3.8 | MK o/ T
£ £ £ i i i [ - -
23.5 22.9 10.5 10.2 3.8 2.8 3.5 23.5 2.8 13.7
17.0 17.1 16.7 17.0 16.7 16. 8 16. 7 17. 1 16. 7 16. 9
0 0 3 0 0 0 0 3 0 0
0 0 0 0 0 0 0 0 0 0
—  <0.0003 - - - - - - —  <0.0003
€0.00005  <0.00005  <0.00005 <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
—  <0.001 — — — — — — —  <0.001
—  <0.001 - - - - - - —  <0.001
0. 002 0. 002 0. 002 0. 002 0. 002 0. 002 0. 002 0. 002 0.002  0.002
—  <0.005 - - - - - - —  <0.005
—  <0.004 - —  <0.004 - —| €0.004  <€0.004  <0.004
—  <0.001 — — — — — — —  <0.001
- 0.57 - - 0. 52 - - 0.57 0. 50 0.53
- <0. 08 - - <0. 08 - - <0. 08 <0. 08 <0. 08
- 0.06 - - - - - - - 0.06
—  <0.0001 - - - - - - —  <0.0001
—  <0.001 — — — — — — —  <0.001
— | <0.0002 - - - - - - — | <0.0002
— <0.0001 - - - - - - — <0.0001
— <0.0001 - - - - - - — <0.0001
— <0.0001 - - - - - - — <0.0001
—  <0.0001 ~ ~ ~ ~ ~ ~ —  <0.0001
— £0.005 - — £0.005 - —|  <0.005  <0.005  <0.005
- <0.01 - - - - - - - <0.01
- <0.01 - - <0.01 - - <0.01 <0.01 <0.01
- <0.01 — — — — — — — <0.01
- 12 - - - - - - - 12
— £0.005 - — £0.005 - —|  <0.005  <0.005  <0.005
- 7.4 - - 6.9 - - 7.4 6.7 7.0
- 110 - - 120 - - 120 110 120
— 205 — — — — — — — 205
- <0.01 - - - - - - - <0.01
— £0.000001 - - - - - - — £0.000001
— £0.000001 - - - - - - — £0.000001
— £0.005 - - - - - - — £0.005
—  <0.0005 - - - - - - —  <0.0005
<0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
7.2 7.1 7.2 7.2 7.2 7.2 7.2 7.3 7.1 7.2
REpL RWAL O REAL OREARL REARL ORERL REARL RBERL
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 <0.5
<0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
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2 KBS OKEMRAE
(13) K T-EFKJR
(1) AL M O R A

@ JFK
£ 7K s A H H28.4.5 | H28.5.10 | H28.6.7 | H28.7.5 = H28.8.2
T FELVEVBZ O EW (mg/L) — — - - -
v 7 vy EXZE O/ AEY (mg/L) — — — — —
= v Fr LV ER®ZE O EY (mg/L) — — — — —
L2- ¥ 7/ \w v x XZ v (mg/L) — — — — —
b L T N (mg/L) — — — — —
THENBRY (- FI~F UIL) (mg/L) — — — — —
il i e i (mg/L) — — — — —
Y /7 v w7k r=F1U (mg/L) — — — - -
W ok 7 v 7 = ) (mg/L) — — — — —
Jid B | — — — — —
i e R [i7e (mg/L) — — — — —
LL,1- Y 7 v owm x ¥ (mg/L) — — — - -
A F ) —t-7 F )L = — 7 L (MTBE) (mg/L) — — — — —
B K M E (T O N ) <1 <1 <1 <1 <1
B (5 v 2 ) T D) — — — — —
e R & & Al (i /mL) 430 23 6 5 8
LI- ¥ 7 o v x F L v (mg/L) — — — — —
53 = Jiea 3 Jial B (MPN/100mL) — — — — —
A ok ¥ W B R E Rk ' (mg/L) — — — — —
% 17 173 # (mg/L) — - — — —
v Ea JL > o 5] (MPN/L) 0 0 0 0 0
it = e S figd B (MPN/L) - - — — —
x 5 #E (MPN/100mL) 2 0 0 0 0
3 OfHE M E #4 Bk # (MPN/100mL) 0 0 0 0 0
7y v E = 7 B & # (mg/L) <0. 02 — — <0. 02 —
# I o % A (mg/L) — — — — —
< 7 i v % A (mg/L) — — — — —
it i3 A %+ N (mg/L) 51 — — 50 —
AN - N - - (mg/L) — — — — —
i 7 L 7 ) i3 (mg/L) — — — - -
5 = 1= E R (mS/m) 27.5 27.0 27.3 27.0 27.0
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H28.9.6  H28.10.4 | H28.11.8 @ H28.12.6  H29.1.10 H29.2.7 H29. 3.8 R /) )

- <0. 0002 - - - - - - - <0. 0002
- <0. 0002 - - - - - - - <0. 0002
- <0. 001 - - - - - - - <0. 001
- <0. 0001 - - - - - - - <0. 0001
— <0. 0001 — — — — — — — <0. 0001
- <0. 001 - - - - - - - <0. 001
— <0. 001 — — — — — — — <0. 001

- 12 - - - - - - - 12
— <0. 0001 — — — — — — — <0. 0001
— <0. 0001 — — — — — — — <0. 0001
<1 <1 <1 <1 <1 <1 <1 <1 <1 <1

— -1.0 — — — — — — — -1.0

210 60 100 390 650 13 15 650 5 160
— <0. 0001 — — — — — — — <0. 0001

— 0 — — — — — — — 0

0 0 0 0 0 0 0 0 0 0

0 1 1 1 0 0 0 2 0 0

0 0 0 0 0 0 0 0 0 0
— <0. 02 — — <0. 02 — — <0. 02 <0. 02 <0. 02

— 28 — — — — — — — 28

— 8.4 — — — — — — — 8.4

— 50 — — 50 — — 51 50 50

— 7 — — — — — — — 7

28.3 27.8 27.6 29.0 28. 6 29.5 28.8 29.5 27.0 28.0
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2 JKIERER D KE R
(13) AKEEFKIR
(1) BEALF K OV R A
@O JFK

£ 7K i A H H28. 10. 4 22 7K i A H H28. 10. 4
,3- Y 7 mu 7 a2y DD (mg/L)| <0.0002 7 7 = 2% 3 K (mg/L)| <0.0001
2,2-DPAC ¥ & v ) (mg/L)| <0.0002 [ ~ = R 2 (mg/L)| <0.00001
2, 4-D (2, 4-PA) (mg/L)| <0.0001 vy ¥ 7 = v F 4 v (mg/L)]| <€0.00001
EPN (mg/L)| <0.00001 ¥ U 7 F A 7 (mg/L)| <0.0001
MCPA (mg/L)| <0.00005 = = ¥ = > (mg/L)| <0.0001
7 D e 7 2 (mg/L)| <0.0001 7 e 7 =i = Jb (mg/L)[<0. 000005
7 + 7 - — K (mg/L)[ <0.00005 7 = = k v F A4 ¥ (MEP) (mg/L)[ <0.0001
7 k 7 DX > (mg/L)| <0.0001 7 = J 7 J v 7 (BPMCO) (mg/L)| <0.0001
7 = = * 2 (mg/L)| <0.00001 7 = v F F v PP) (mg/L)| <0.00005
7 7 7 = — )V (mg/L)|  <0.0001 7 = v bk = — F (PAP) (mg/L)| <0.00005
A4 Y % ¥ F F v (mg/L)| <€0.00005 7 VA 7 A F (mg/L)[ <0.0001
4 v 7 = v & A (mg/L)| <0.00001 7 v v = — sV (mg/L)| <0.0001
A4 Y ZF v H 7 MIPO) (mg/L)| <0.0001 7 vl 2 = Z (mg/L)| <0.0001
A4 Y 7 v F F T v (IPT) (mg/L)| <0.0001 7 7 wm 7 = ¥ v (mg/L)| <0.0001
A4 F v X v K A _(IBP) (mg/L)| <0.0001 7 v F 5z v — Jb (mg/L)| <0.0001
A4 v ¥ ) 7 7 v (mg/L)] <0.00005 v = D 2 K > (mg/L)| <0.0001
= ZX 7 v H N 7 (mg/L)| <0.0001 7 v ¥ a5 v — L (mg/L)| <0.0001
~ ¥ 4 7 x= ¥ & A (EDDP) (mg/L)| <0.00005 v = =4 Vi N K (mg/L)| <0.0001
=T F 7 = v F v oy 7 A (mg/L)| <0.0001 7 v Ny — L (mg/L)| <0.0001
% ) (mg/L)| <0.00001 7 = £ 7 ¥ F (mg/L)[ <0.0001
T RALT 7 (R V) (mg/L)|  <0.0001 ~ J 2 L (mg/L)| <0.0002
 x ¥ Y 7 v A K v (mg/L)| <0.0001 ~ N o 4 = > (mg/L)| <0.0001
A % v v 8 (8 ) (mg/L)| <0.0001 ~ N v 4 > (mg/L)| <0.0001
7 = v Ak v — b (mg/L)| <0.00005 ~ v F 4 A Z U v (mg/L)| <0.0001
B o U L (NAO) (mg/L)| <0.0001 N v 7 % H v 7 (mg/L)| <0.0001
Y A - S A F (mg/L)| <0.0001 Ry AT Y (R Yr) (mg/L)| <0.0001
i JL R 7 5 > (mg/L)| <0.00005 ~N v 7 L k& — B (mg/L)| <0.0001
¥ /7 7 2 v (ACN) (mg/L)| <0.00005 ~ 7 F A v (~ F7 Y v ) (mg/L)] <0.0001
X ¥ - v v~ (mg/L)| <0.0001 A =2 F w vy 7 (MCPP) (mg/L)[ <0.0001
v 3 I = v (mg/L)| <0.0001 A v 3 JV (mg/L)| <0.0001
7 m = hkua 7 = v (CNP) (mg/L)| <0.00001 A v 7 ¥ v Jb (mg/L)| <0.0001
7 wm v U & Z (mg/L)| <0.00001 A F F F F > (OMTP) (mg/L)| <0.00001
7/ v v Z m = Jb (TPN) (mg/L)| <0.0001 A F v K 4 A v (mg/L)| <0.0001
v 7 s DX > (mg/L)| <0.00001 A 7 = F & v b+ (mg/L)| <0.0001
v % =i N (DCMU)  (mg/L) | <0.0001 A 7 =i = Jv (mg/L)| <0.0001
v s o m X = 5 OBN) (mg/L)| <0.0001 £ Jj X — L (mg/L)[ <0.00005
Y s m A A % (DDVP) (mg/L)| <0.00005
VANIE b (= FLF A A R ) (mg/L)| <0.00001
v ¥ %+ =4 Jb (mg/L)| <0.00005
D ~ v v (CAT) (mg/L)| <0.00001
v A Z A k D) v (mg/L)| <0.0001
4 A k = — b (mg/L)| <0.0001
D A b~ P > (mg/L)| <0.0001
Y A ¥ 2 L —  } (mg/L)| <0.00001
vl A 7 Y J > (mg/L)| <0.00001
v A N =4 > (mg/L)| <0.0001
7 7 7 2 (mg/L)| <0.0001
¥ %+ v 7 JL 7 (mg/L)| <0.0001
F 4+ 7 7 x — b A F U (mg/L)| <0.0001
F F N v H 7 (mg/L)] <£0.0001
F 7 J v 7 (MBPMC) (mg/L)| <0.0001
k y V4 =4 = JL (mg/L)| <0.00005
F YU Z v A & » (DEP) (mg/L)| <0.00005
KU ¥ s 5 Y — g (mg/L)| <0.0001
~ ) 7 T D) >~ (mg/L)| <£0.0001
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£ 7K F A H H28. 10. 4 22 7K F A H H28. 10. 4
EPN %+ ¥ v > (mg/L)| <0.00001 N v R 7 oum v A F g (mg/L)| <0.0001
A4 J F Y F 4 v 4 F Y (mg/L)]| <0.00005 A N ¥ JL (mg/L)| <0.0002
A4 Y 7 = K A A F YV v (mg/L)[£0.000005 b7 B ARAAFIAFY 2 (mg/L)] <0.0001
- v K x J 7 = — b+ (mg/L)| <0.0001 + % ¥ v 7 v (mg/L)| <0.0001
C N P - 7 X 7/ (K (mg/L)][<0.000001 s v X b ¥ ¥ = v (mg/L)| <0.0001
7 m )L ¥ UK AFF Y v (mg/L)]| <0.00001 rVZebenr—2-7 F%xv=F 0 (mg/L)| <0.0001
A4 T YV ) v F x v v (ng/L)| €0.00001 = + ®wm 7 = v (NIP) (mg/L)|[ <0.0001
7 x=buoFF o F XY (mg/L)] <0.00005 - = A D v (mg/L)| <0.0001
MPP A v & F ¥ K (mg/L)| <0.00005
MPP 2 JL gz > (mg/L)| <0.00005
MPP %+ * v > (mg/L)| <0.00005
MPP 4 &% ¥ v A2 )L 3R & ¥ K (mg/L)| <0.00005
MPP + ¥ Y v Z JL & v (mg/L)| <0.00005
7 X I Ak A A F YV v (mg/L)| <£0.0001
~ 7 F A& v A F Y v (mg/L)| <0.0001
7 v ¥ 2 7V K (mg/L)| <0.0001
4 2 ¥ 7 w 7 U K (mg/L)| <0.0001
> 7 o F Y — L (mg/L)| <0.0001
A ~ J A )L 7 ma v (mg/L)| <0.0001
= F ¥ ¥ 2 o 7 wm v (mg/L)| <0.0001
- b+ N v ¥ = F (mg/L)| <0.0001
+ % H ¥ 7 A X o (mg/L)| <0.0001
7 wm  F 7 = ¥ v (mg/L)| <0.0001
7 o v v Y Ak A A F L (mg/L)| <0.0001
Y 7 = J @ F Y — L (mg/L)| <0.0001
Y 7 v o=a F Y — L (mg/L)| <0.0001
¥ A a  F Y — L (mg/L)| <0.0001
Y7 7 v A4 7 = v (ng/L)| <0.0001
F 7 7 o F F (mg/L)| <0.0001
F 7 2 k% ¥ A (mg/L)| <0.0001
F % b A 2 F (mg/L)| <0.0001
7 ~ 7 =2 5 v — )L (mg/L)| <0.0001
> 7 7 = 7 ¥V F (mg/L)| <0.0001
b U R X H Xy 7 = F b (mg/L)] <£0.0001
kYU 7 v 2 Y — b (mg/L)| <0.0001
Ny oma 7k 7 Y — U (mg/L)| <0.0001
Y27 u e F L (mg/L)] <0.0001
U I kK R A F L (mg/L)| <0.0001
7 7 A k = L (mg/L)| <0.0001
7 o 7 ¥ & v 7 (mg/L)| <0.0001
R 2 Vi Dj F (mg/L)| <0.0001
7 Y % ¥ 2 F m v v (mg/L)| <0.0001
A -7 = > 7 v (mg/L)| <£0.0001
V4 = =t ES 7 (mg/L)| <0.0001
D4 v o = v (mg/L)| <0.0001
F = N 7 wm — J (mg/L)| <0.0001
kv 7 o om ok A A F L (mg/L)| <0.0001
N B A )V 7 v v A F )b (mg/L)|  <0.0001
v 7 = v 7 A (mg/L)| <0.0001
U F o % v 7 = v (mg/L)]| <0.0001
7 7 ¥ =z g 7 v v (mg/L)| <0.0001
7 % k 7 = b (mg/L)[ <0.0001
~ v R ) R (SAP) (mg/L)| <0.0001
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